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OftR=oNe =R X2
6,000 «36F x12J1 & 2,592
< 518
s 2,074
2SR XA 2,639,807 2,530,844 108,963
= 397,479
| 47,103
< 536,546
i 1,658,679
AUXNASR =& 5,184 7,320 AN2,136
201 et 2,304 1,560 744
01 At 22l 2,304 1,560 744
OE2 X =gl 8,000& x3F 8L 128 2,304
202 Od4dl 2,880 5,760 A2,880
01 =2 LHA YI 2,880 5,760 A 2,880
ORHXNALR =& 20,000 *3H 42 <123 2,880
UEHRAN AT 142,500 142,500 0
402 BI2EX20l A 142,500 142,500 0
01 2I2EH 2 A B (KM ) 142,500 142,500 0
OLBHAUAIE XA 142,500
—=sg&F 7,000,000& *302 *50% 105,000
—s&E8AH=ED 3,000, 000& *25CH x50% 37,500
20 FHEIEES LA 305,000 260,000 45,000
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2N sYHHD
= o
= o

X{ XH -
S =

SAH-EB .S (3H) - HEAY - BE2 il HDS2
402 212t X201 A 305,000 260,000 45,000
01 DIZFXI2AIE E X (XM THE ) 305,000 260,000 45,000
OsHY S3558 s=4KA 305,000
— Al&A&= THEH K& 15,000
— AXHA B X & 40,000
— 20| MHIAIE XI& 100,000
=8 THHHAIE X & 80,000
— 103 MHIAIE XI& 70,000
DEE 2T MEH XA 115,200 115,200 0
402 212t X201 & 115,200 115,200 0
01 QIZtXI 2 A E X (KM TH ) 115,200 115,200 0
OSI M X3 A 115,200
SR THA AAD[BE A ALS 3,960 0 3,960
T 3,300
= 660
402 QI2v X2 0| & 3,960 0 3,960
& 3,300
= 660
02 DIZHXI2AIE EX(0IETHE) 3,960 0 3,960
ORI M MADIE A= 3,960
& 3,300
= 660
Ol AFTHEN Al&E XA 103,635 103,635 0
402 22t X201 A 103,635 103,635 0
01 DI XIE2AIE E X (XM THE ) 103,635 103,635 0
OCQl&THEN JIEEAIE XI&  600& *x90,000 M *50% 27,000
OQIATHE AIE XM K&
1,703& *90,000m" *50% 76,635
AMAESISA B2 XA 110,000 220,000 A 110,000
402 QI2HXH 201 A 110,000 220,000 A 110,000
01 It XIS AN E X (XM THE) 110,000 220,000 A 110,000
OA&ESIRA B2 X&
40,000& *5,500m* *50% 110,000
ANESRA B2AIE XA 30,000 30,000 0
402 QI2HXH 201 A 30,000 30,000 0
01 DI XIE2AIE E R (XHMTHE ) 30,000 30,000 0
O Bge2 €40 XA
15,000, 000& *44! x50% 30,000
AMASISA D] XS ALY 67,200 53,617 13,583
T 20,160
= 47,040
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2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

402 212t Xt=01&

EUNL

67,200

20,160
47,040

53,

HEXZ(0IXMTHE)
ES

e X

M

67,200
67,200

20,160
47,040

53,

13,583

ANEH0 S CHE AL

MR

533,137
213,253

95,968
223,916

,062

220,075

402 QI2tXt= 01 &

Mo A

533,137
213,253

95,968
223,916

,062

220,075

FHEX(0IEMSH)
A

HH A

533,137

533,137
213,253

95,968
223,916

,062

220,075

=g HUXoE s&83 MA(HUXEZ)

HH A

460,565
184,226

82,902
193,437

265,

672

194,893

HH A

460,565
184,226

82,902
193,437

265,

672

194,893

02 Q=AML EE(0IATHE)
A

OuUXIZZAIE XI&

HH W

460,565
460,565

184,226
82,902
193,437

265,

672

194,893

S

EURLY

46,974
23,487

7,046
16,441

,986

26,988

402 2I2tXr=01 &

S

UL

46,974
23,487

7,046
16,441

,986

26,988

02 QA 2AMLEE(0IXTHE)
O&0=0F ICT =8 XN&E

S

UL

46,974

46,974
23,487

7,046
16,441

,986

26,988

0x
i
ol
02
™
35
ogr
[>
[=]
Im
o
Jor
z
>
9

r

114,450

122,

080

AT,630
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 34,335
s 80,115
402 RI2EX=20| A 114,450 122,080 AT,630
< 34,335
s 80,115
02 QI EAISEZ (OIS ) 114,450 122,080 AT,630
OEE ADET SH4AY 114,450
< 34,335
s 80,115
SEg&s NEE8Ua XN (HA, sXH,248 S) 19,963 0 19,963
J| 7,985
= 11,978
402 RIZ2HXt20l ™ 19,963 0 19,963
J| 7,985
[ 11,978
02 2IZt 2 AL EZ (OIS ) 19,963 0 19,963
OSEX28 NEsUsH(HA , =X, %E) 19,963
J| 7,985
s 11,978
NHEsSS= HEotRA NEAS 229,165 153,668 75,497
< 190,971
s 38,194
402 2I2H X201 M 229,165 153,668 75,497
< 190,971
[ia 38,194
02 QI 2 A EZ (OIS ) 229,165 153,668 75,497
OA4dsteA XX 229,165
< 190,971
[ia 38,194
U2 MAY SFA(SIOIHE HA) AL (HSAIY 113,796 155,820 N42,024
)
< 94,830
s 18,966
402 2I2H X201 M 113,796 155,820 N42,024
< 94,830
s 18,966
02 QI 2 AL EZ(OI X TH ) 113,796 165,820 N42,024
OJHZZ olOIHE He X2 113,796
< 94,830
[ 18,966
A5 FRYEAS SHAMS(HEAY) 200,000 200,000 0
402 BIZHRHE 0 A 200,000 200,000 0
01 2I2EH 2 A B (KR ) 200,000 200,000 0
OAIE20 HaAE K&
200,000,000& *2.0ha*50% 200,000
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2N
X ZH -
L= B

el

SN HH-S(BN) - MBAY - B il HlnE2
DFHIOFE THHEHAIE X2 A 39,078 39,078
| 15,631
< 7,034
s 16,413
402 2I2H X201 M 39,078 39,078
J| 15,631
< 7,034
s 16,413
02 QI EAISEZ (01X THS) 39,078 39,078
ODFHIJIEMEBHAIE X & 39,078
| 15,631
< 7,034
[ia 16,413
HH2IHZH (sZF ) 104,526 A 1,080
Jl234l 104,526 A 1,080
JI23Hl 104,526 A 1,080
101 @124 dl 40,000 3,000
03 RIAHAZ 22+ 40,000 3,000
O3RI2EXN DE, MHHEEZ(41Y) 40,000
201 Let24E] 42,936 1,200
01 At 22l 20,556 0
Ootlgxsgz 2,340
- =2 15,0002 x32+12& 540
— XX 10,000& 15 128 1,800
O=EMEXNFY 22,9003 x20 A %128 5,496
O=SAD Xz 660,000 122 7,920
OMEESFYH 300,000& »12& 3,600
O3dxJ|dUs 50,000& x12& 600
O3J18&J gz 50,000& 123 600
02 2322l 22,380 1,200
Oo=EXE FFRU 1,260& 2504 =128 3,780
OEXE RA2eltl 600,000 = 1CH 43| 2,400
OsgllsdHazt NHEEER
600,000& »27CH 16,200
202 O4dl 5,280 25,280
01 = LHA YI 5,280 25,280
FNM2E S WAL 20,0003 x22H 1201 & 5,280
203 Q2 =AY 16,310 0
01 J122E S =2H 7,000 0
OJ122g L FaY| 7,000
02 33 PR =L 4,510 0
OFJINH S =AY 4,510
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